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37037X3=111111
37037 X 6=222222
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2N HAARBR/NT T REC ),

A.6.04+6 B.0.84-+28 C.76.5-+45 D.8.9+8.9
3.2413.6+2.6 BRI 5 B RECEC ),

A.6 B.0.6 C.0.06 D.0.006
4UEFX11=2+11(F  THRA 0O JFAC Do

A=z B.H>2Z C.H<Z D. Joik i
S5.H(DIAFA: 26 N 2o 14 N BEicdl— Ak sz ¢ O RnlgerER.
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A.6 B.6.4 C.6.5 D.7

LEHE M. 82

6.4-0.8= 8X2.5=
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#E AFH LM


Administrator
文本框


B AREREEFEIZ R, (11 5

LAEF i F I 45 SORK B A ALBLCLD LA 3% 10 s
B . XAEHERC OB, 4 Z
B@3,6) C,6) D(10,9) 7
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5 MRIEAREE 10 BEESHER .,
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=

—.1.4 + 2.6.4 55
3.46.8 6 4.2.784¢ 8.7

At

5.3.53 3.54
6< > = > < < 17.0.32
8.4 #fKH 6

9.444444 555555 666666

10.0.58 0.585
=X 2.X 3.X 4. 54/
=.1.C 2.B 3B 4C 5A 6D
mM.1.8 20 0.98 9.9 11 0.54 0.08 38
2.2.82 0.8CEX . BHw)
3.2840 723.6 1.9 100
AOLEE 2.8
3.(3,5) (3,2) (5,2) (10,5
7.1.5.65 X 4~23(kg)
2.5+0.32=15.625(f) =154
3.6.4X1.5X6.4=61.44(m?)
4.45.6+3X12=182.4(J0)



=.1.C 2.C 3.C 4B 5.A

M.1.0.574 60 0.64 525 0.8 1.25 3 400
2.7.84 2.5 20 1.79(% X&)
3.4.635 50.18 8.7 56

F.1.0.6—0.4=0.20J0)
48--0.2=240({}})
2.360+5.6~64.29(km)
3.29.6+2.7=10.962-+- () =10(})
4.4.50.6="7.5(P)=8()
5.51X25-+0.4=3187.5(H)~3188 ()





